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# particles

X-sect = 6.717E-03(pb) AVG = 4.850E+00 RMS = 2.131E+00
Tot # Evts = 49450 Entries = 48760 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG =4.413E-01 RMS =6.981E-01
Tot # Evts = 49450 Entries = 49450 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 3.998E-01 RMS =6.432E-01
Tot # Evts = 49450 Entries = 49450 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 1.890E-01 RMS =4.482E-01
Tot # Evts = 49450 Entries = 49450 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 2.562E-01 RMS =5.018E-01
Tot # Evts = 49450 Entries = 49450 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 3.647E+02 RMS = 1.043E+02
Tot # Evts = 49450 Entries= 30743 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG =6.637E+01 RMS = 6.256E+01
Tot # Evts = 49450 Entries = 48396 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 1.429E+02 RMS = 7.061E+01
Tot # Evts = 49450 Entries = 48709 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 8.419E+01 RMS = 5.688E+01
Tot # Evts = 49450 Entries= 47036 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG =8.116E+01 RMS = 6.100E+01
Tot # Evts = 49450 Entries= 16825 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG =4.706E+01 RMS = 3.646E+01
Tot # Evts = 49450 Entries= 4117 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG =5.723E+01 RMS = 6.356E+01
Tot # Evts = 49450 Entries= 15990 Undersc= 0 Over




# events/bin

R T

o |||||

100 200 300 400

X-sect = 6.717E-03(pb) AVG = 2.738E+01 RMS = 3.279E+01
Tot # Evts = 49450 Entries= 3316 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG =8.891E+01 RMS = 6.682E+01
Tot # Evts = 49450 Entries= 8218 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG =5.318E+01 RMS = 4.189E+01
Tot # Evts = 49450 Entries= 1085 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 5.206E+01 RMS = 4.407E+01
Tot # Evts = 49450 Entries= 11262 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 3.076E+01 RMS = 2.110E+01
Tot # Evts = 49450 Entries= 1303 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 2.232E+02 RMS = 1.544E+02
Tot # Evts = 49450 Entries = 46938 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 1.941E+02 RMS = 1.270E+02
Tot # Evts = 49450 Entries= 16663 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 1.542E+02 RMS = 1.263E+02
Tot # Evts = 49450 Entries = 15651 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 6.196E+01 RMS = 5.722E+01
Tot # Evts = 49450 Entries= 2968 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 2.118E+02 RMS = 1.306E+02
Tot # Evts = 49450 Entries= 7922 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 9.299E+01 RMS = 7.140E+01
Tot # Evts = 49450 Entries= 822 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 1.491E+02 RMS = 9.740E+01
Tot # Evts = 49450 Entries= 11077 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG =8.233E+01 RMS =5.176E+01
Tot # Evts = 49450 Entries= 1187 Undersc= 0 Over




# events/bin

500

100

90

10

_I]J i

o |||||

mij

X-sect = 6.717E-03(pb) AVG = 1.218E+02 RMS = 9.179E+01
Tot # Evts = 49450 Entries= 4117 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 8.413E+01 RMS = 8.998E+01
Tot # Evts = 49450 Entries= 6138 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 3.825E+01 RMS = 3.540E+01
Tot # Evts = 49450 Entries= 453 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 1.322E+02 RMS = 9.898E+01
Tot # Evts = 49450 Entries= 2404 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 7.593E+01 RMS = 5.186E+01
Tot # Evts = 49450 Entries = 54 Undersc= 0 Over




# events/bin

500

100

20

10

m(bl,tal)

mij

X-sect = 6.717E-03(pb) AVG = 9.644E+01 RMS = 6.478E+01
Tot # Evts = 49450 Entries= 3812 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG =5.884E+01 RMS = 3.726E+01
Tot # Evts = 49450 Entries= 112 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 7.455E+01 RMS = 7.376E+01
Tot # Evts = 49450 Entries= 3316 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 1.100E+02 RMS = 1.019E+02
Tot # Evts = 49450 Entries= 2140 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 8.430E+01 RMS = 6.893E+01
Tot # Evts = 49450 Entries = 43 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 7.303E+01 RMS = 7.243E+01
Tot # Evts = 49450 Entries= 3410 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 3.607E+01 RMS = 3.036E+01
Tot # Evts = 49450 Entries = 84 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 1.224E+02 RMS = 9.239E+01
Tot # Evts = 49450 Entries= 1085 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 1.084E+02 RMS = 8.544E+01
Tot # Evts = 49450 Entries= 1411 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 9.000E+01 RMS = 5.362E+01
Tot # Evts = 49450 Entries = 4 Undersc= 0 Over
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X-sect = 6.717E-03(pb) AVG = 7.345E+01 RMS = 5.052E+01
Tot # Evts = 49450 Entries= 1303 Undersc= 0 Over




